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00 000000R;, O0DOO0DOOO0OOOO0ODOOOD O000000O000DO0O00DO0O0O0OO
000 RFODO0OO0O0OD0ODOOOOOR OOODOO

(z,9(x)), f(9(9(x)), 9(9(x))))
fg(g(x)), 9(g(2))), f(x, g(2)))

(f
(
(f(h(x),2), f(x,g(x)))
00000O000b((8)) = 101ab((7)) = lab((9)) =00 000000000000000000
000 (f(z,9(x)), fg(g(z)),9(9(x)))) DO D OO

f(z,9(x)) —o—0 fg(g(x)), g(g9(x)))
oooooo NLR({(T}) ={(9)} < 1000000000 4.1300000000000000

) =
(f(g(g(x)), 9(g(x))) f(z,9(2))) DODODDDODODOOOOOOOODO (f(h(z),2), f(x,9(x)))
0oooo

CP(R") =

f(h(z), x)=0f (g9(h(x)), g(h(x))) 0400 f(x, g(x))
0O0O0O0NLR({(7),(9)}) ={(9)} <10000000004.13000000000000000R7
00000000000 413000000000000R0O00O0O0O0O00O0O0O
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5 Uouuubobuoooobbod

googobbo441130b0booooboobooboobobooobooboooobooobo
goooooooooooooooo

5.1 OUOooobbodogd

oooobob413000000bbo0o00oobobooo0ooboooRrRODOO0OOOODbODOO
OO0 ROO RFOOUDO0OODOOOR O0OOO (v1,v2) € CP(RT)DUDO0OOODO vy 45 -+ 4> v
gbodgboobuooboobodgbuooboobooboobobobboobobboobobob
ooooooooooboo!l—-»reRO0I#4r000000DCOOOOOOODOOI=r0OD0
oot !l—-r-r000000 RODODODODOD

gbbobobobobooooobooboboboboboooobooobobobOoDb RFOO
000 v+ -—pr00000000000000000 (v,v2) 0000000 v1 -+ 4> 02
000000000000 000000000 f(er,y —2z€e R O00000O0O0OOOOOOO
gboogboobooboobuogbuoobooboobooboobboboboobobbob
DDDDDDDDDDDDDDDDDDDDD}({—;DDDDD — 0oo0oooooouoRrR, 000

(0000000000000 0O0O

00 5.1 (R,) 000000000000 RFOOOO0OO0O000O00000000000000
000000000000000000000RLOR, =R U{r—=1|l—>reR, V(I =
V(r),r¢Vv}oooooo

00000, 0000000000000000000

RZ, R7, RI, RZ,

DDD—>DRTDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
DDDDDDDDDDDDDDDDDDDDD dr 000000000

00 5.2 (00 dir) l »,r€e RL,O00000000O0OO0OOOD «0O0 RFOOOOOOOO
OooDbOoOobooOg der00OO0O0ODOOODOOODO

— if |l >qr€RT

dir(a) =
— if |l >ar € RL\RT

rRLO0OD00000000O0O0O0O0O000000D0O0

00 5.3 (RLOODDOOODOOOD) RFOOUODODOOOO lebOORLOODOODDOOOOO lab
goooooooogooDg

lab(l — r) = lab(r — 1) if dir(l »>r) =+
Uoor,00000 R O0000O0O0OCOOOOOOOOODOOCOOOOOOOODOOR"
00000 v < -—greidi000ddodoooooooodooooon

* *
V1 —=va - —>6 ul —>Yav,8 U Fvavﬁ U2 <—a Syg U2
RZ, RT RT, RT, RT,

00000000
I. NLR(Rules(vi —>va - —p u1)) < a
RL, Rz,
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1. NLR(Rules(u1 ~vavs t ¢vavs u2)) < aV B
RI, R,

1. NLR(Rules(us ¢ - <5 v2)) < 3

RL, Rz,
D000000 w,ue 0000000000000 00000000O00
O00000000000000000000000000000000000000000d
0000000000000000000000000

00 5.4 (000000) 00000 v1 —a, ~ —a, « 00000000 (1), ...,I(an) O
RI, RT,

00000 labseq0 O DOOODOOODODOO

labseg(vl a1 T Tan ’LL) = (I(al)a'”vl(an))

RI, RI,
000000000 I()00000O0ODODO0OO0OOO
I(ag) = (a4, {lab(l = r) | |l = r € NLR(Rules(—q,))})
RZ,

00 55 (0000000000000) 000000 (I(),...,1(a,)) 0000000000
0, 00000 ®((I(1),...,I(ay))) 0000000000C0D

SG((I(),-. I (an) =\ Ui((a1),.., I(an)))
k=0

k
Ui(((a1, Ar), s (o, An))) =[({en, . op1 } U [ JAi) < o
1=0

A (o = B) A (dir(ag) = —)
Mkt - an}U | A) < (aVB)]

i=k+1
00 5.6 (00000) 0v,v000w0000000000 01 =y - —ap, U g, - p V2
RT, RT, RT, RI,
0000000000000000 lebjein 000000000000

labjoin(vy —ay -+ —ra, W 4g,, ~*- p, V2) =

RT, RZ, RZ, R,
(labseq(vi —ray =+ —Fay, ), labseq(vy —p, -+ =g, u))
RI, RT, RT, RZ,

U000 v, 000 k00000000 JEL(vl,vg)DDDDDDDDDDDD

Jﬁ; (v1,v2) = minaxa{labjoin(vi —a; -+ —a, - 8, - - <5 V2) | n,m <k}

R, Ry R, R
Oooooooooooooooon 200000000000mno,o000000000000
(I(a1),..., I(an)) 2 (I(edy),s -y I(a,,)) (1<ip<---<im<mn)

gbobobo413b0b0b00bo0oboobogobobooboboboboobn

oooooooood
OO0 :000000000 ROODODOO0ODO kK
ooooooooog
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. ROODODOOOOOOOOOOOO-~DOO0ODOD

RFO0OOD0O0O00O00 00000
gboboobodsbO0O0obOOoOobDbOoObOOn

3-1. 700000
32 RT0000000000O0D0O000000000000000O0OO0O000

RTO00000 CP(R))0000D000 CP(R)=00000000000

goboboooobooobogooobooboooooboobobooboboobboboboobooon
ooobooboo0oo0oOooOdoooobo0ob kbOboOobOOoO0oo0oboboOoboboOoboboOoboo
gooooon

gobodoboooobooboobobooboobbooboan

ooooooog

g

000000000 R

gooooo r
1. ROOODODOODOOUOOobOobOOoDOoObObODbOOobobDobOUoOobUOobOoDoboLOoD

gooo

2. ROOODOODOODOODOODOODODODODOODODLOODODLODODLOODLO
3. ooooooobbd!l—-r00o0o0O0OO0OOO0ODbDO0ODOODOOOOOOODOODDOO

000000

o type(l) = type(r)
e I0DDONODONONOONONONONONONONONDOOODOO

4. 000000000

oooooooobooooobooooboooooOoOooooOoUoDOO kOOOODOOOODbboOoOoD
gbooobooobooobooboooboobooboooboobooobboobooboboobbon
Oo00o00o000ooooooooooooosMTOoOoOooOoOOOOOoOo

gbooobboobuoaboan

go

0000000000000 RFROOb0ObDOnDg k

OooRrR O0000DOOOOOOODOO

1.

R'000000 CP(R)0000000000000 vy 44-—30, 0000000000
00000000 o,80 (v,v)000000

RTO0 RL,OO0000DO

(vi,v9) € CP(RT) 0000000 Jg, ((v1,v2)) 00000 Jg, ((v1,02)) =0 000000
000

000 (v,v2) € CP(RT) 0000000 Cond((vy,v2)) 0000000 Jfy ((v1,02)) O 1
0000 (v,v)00000000000000 ,40000000000000000

Cond({(v1, v2)) = \/{2F(7) A @3(8) | (7.6) € Jgz, ({v1,02))}
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5. 00000000000 DOO0O0O0O0ODbOO0ODOObOOODOOOoDODObODOODOOn Cond
gooooooooooo
Cond:/\{Cond(<U1,v2>) | (v1,v2) € CP(R")}
6. 000 Cond00ODOODOSMTOOODODOODOODOOODOODOODOODODOODOD
goooooooog

5.2 0O0OO0ognO

00000000000 0O00O00O0oO0o0oO0Oo0oOO0oooOO SML/NJOODOOOOOOO
(O 10000)00OOO0O0OO0O0OOOOOOOOOOOCOOOOODOOOOOOOOOOODOOOO
00000000000000000000000000 T4h[8]00000000000 Cond O
0000 SMTOOO Yicesp) O O0ODDO0OO 414000000000000000000O00O0OO
000000000 Ss50000000000000 [I0)000D000DOOUOOUOOOODOOO
00190000 AD00O0ODOO0O0O000OOOO0O0O0O0OOO (0 100-16) 0000000000
0000000000000 00O0000000OD0O ACPY]00DOO0DODOOOOOOOOOOO
O0JACPOUOO0OO0DOOUOOODOOUOODOOU 10000000000 O0ODO0OO0OOOOOOO
gbooobooobooobbobboobooboobooboobooboboobooboonbD 10
o010 kb0b0bob0obbooboobooooboobobobobobogbooDxpOoD
OO0000O0O0OCOO0000 10000 100ACPOOOOSOOOOg8OOODOOOOOOO
OO0 ACPOO00DODOCOOOO00OOOCOOOU00OODOOOOOODODOOUOODODOOO
00000000000 Cops[l]00000000OO00OO0OO0DOOOOUOOODOOO2610000
ooobooooobooooooobooobboooDbbO0 k=30000D0O00DO0OODOOOD
0000000000000 e690000 19200ACPOOOO 2300000 3100000ACP
gbogoboobooboboobooboboobo1booboooon

6 UuUouooooagda

gobooboboobbobbooboobooboobooboobboobboobboobo
gobobooooooboobooooooobooobooboooob0o ROODODDOOLOOODOD
o0 RO0O0OD0O0O0O0O0O0OR O00DO0ODO0O RFOODODOODOObOOOoOOobDoDobOoD
oooobogooobooobb RFOU0DbbO0obobOOooboboobbOobbOooDbbOooDo R;fDD
Dobooboooooooooonoooodnon Ry, 0 T(FUCy)"000D0O000O0OOR OO
00000 RO T(F,V)"00000000O0O0O0OO0ODOOOOOO RO T(F,V)OOOOOOO
DDDDDDDDDDDDDDDDI:II:JDDDDDDDDDDDDR%DDDDDDDDDDDD
gooooooRrR O00O00O0O0ODODOODODODODOODODOOODOOOODOODOOODOO
gbooobooobooboobooboobbobbobooobooboobooboboobDbon
gobooboboboooooobobobobooooooboobobobobooboooboobOobon
gboobooboobuoobuoobooboobooboobooboobooboboobobob
gboooboooboobooboobooboobooboobooboobooboboobDbon
ggbobooobooboobooboboogoobooobooboooboboooboooboobooDo

HEN

gboboooooooboobooboboboboooooooooboboboboboooooooDo
O00000000 253300040 2528002500 23500002 0 00000000000
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Input

rl : F(x, y) > F(G&), Gx))
r2 : F(G&x), x) > F(x, G(x))
r3 : G(x) -> H(x)

Types
F:1x1 ->0
G:1->1
H:1->1

check Termination of Non-Linear-Type by TTT2
Non-Linear-Type : Terminating
Input : Weak-Linear

Input : Overlap

CP :

[ <F(z, G(=2)) , F(GG=)), GGE=)))> ,
<F(G(G(y)), G(G(y))) , Fly, G(y))> ,
<FHW), w) , Flu, Gw)> ]

check satisfiability of rulelabeling condition by Yices

Satisfiable
(= r1 0)
(=r2 1)
(= r3 0)

Input : CR

U s5.000000000000000

0100000000000

k=1

=N
Il
b

NA
Il
w

>
Q
5

Oo0ooooggd
(@)
=

B A = = =)

X X X X X O O X O X O O o o o o

OO0OoO0ooOoooad
—
w

X X O O O 0O O O 0O 0o O o o o o o

X O o o o o o o O O O O O o o o

X X X X X X X X O o o o o o o o
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g 10

flz,y) = flg(x),9(y))
R=< f(z,z) > a
g(z) = x
011
f(@,9(x),y) = p(h(z),y)
=19 f(z,y,2) = fz,9(2), 2)
9(x) = h(z)
012
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